
MAT 1275CO: Quiz solutions, 3 October 2019

Put the formula for each parabola into vertex form

y = a(x− h)2 + k

by completing the square.

Then give the value of a and the vertex:

1) y = x2 − 16x− 40

By “my” method:

y =
(
x2 − 16x+ 64

)
− 40− 64

y = (x− 8)2 − 104

a = 1

vertex: (8,−104)

By the method used in the WeBWorK:

y + 40 = x2 − 16x

y + 40 + 64 = x2 − 16x+ 64

y + 104 = (x− 8)2

y = (x− 8)2 − 104

a = 1

vertex: (8,−104)

2) y = x2 + 5x+ 2

By “my” method:

y =
(
x2 + 5x+ 25

4

)
+ 2− 25

4

y = (x+ 5
2)

2 + 8
4 −

25
4

y = (x+ 5
2)

2 − 17
4

a = 1
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vertex: (−5
2 ,−

17
4 )

By the method used in the WeBWorK:

y − 2 = x2 + 5x

y − 2 + 25
4 = x2 + 5x+ 25

4

y − 8
4 +

25
4 = (x+ 5

2)
2

y + 17
4 = (x+ 5

2)
2

y = (x+ 5
2)

2 − 17
4

a = 1

vertex: (−5
2 ,−

17
4 )


